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Nan Hua Primary School
Primary 4 Mathematics
Term 1 Weighted Assessment 2024

Name: ( )

Class: Primary 4M____
Date:
Duration: 40 min

Marks

Section A: /8
Section B: /8
Section C: /9
Total: 25

INSTRUCTIONS TO CANDIDATES

. Follow all instructions carefully.
. Answer all questions.

GO M W N =

question.
8. Do not use correction tape/ fluid/ highlighter.

. Write your name and index number in the space provided.
. Do not turn over the page until you are told to do so.

. Use dark blue or black ball point pen to write your answers in the space provided for each

This booklet consists of 9 printed pages and 1 blank page.
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Section A

Questions 1 to 4 carry 1 mark each. Questions 5 to 6 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4) and write your answer in the brackets.

(8 marks)

1 Which of the following is thirteen thousand, eight hundred and fifty in numerals?

(1) 13085

(2) 13805

(3) 13850

(4) 30850 (
2 Arrange the following numbers from the smallest to the greatest.

47 209, 46 327, 46 825
Smallest Greatest

(1) 47209 , 46825 46 327

(2) 47208 , 46327 46 825

(3) 46825 = 47209 46 327

(4) 46327 , 46825 47 209 (



In the following number pattem, what is the missing number?

12878, 12 978, 13978, 14 078, 15 078, 16 178,16 278

(1) 16078
@) 15178
(3) 15079

(4) 14978

Round 39 565 to the nearest thousand.

(1) 1 060
(2) 39500
(3) 39600

(4) 40 000

3 and 4 are factors of

(1) 15
(2) 24
(3) 32

(4) 38
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Which of the following number is @ common multiple of 6 and 97

(1)
(2)
)
4

16
36
42

63
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Section B

Questions 7 to 10 carry 2 marks each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. (8 marks)

7

Mary had 3986 erasers. She gave 2013 erasers to her brother and 750 erasers to
her sister. How many erasers had she left?

Ans :

8

Mr Ahmad spends $346 each month. He spends the same amount of money each
month. How much money does he spend in seven months?

Please do not write in the margin

Ans: $
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8 (a) Find the value of 1028 + 4

Ans : (a)

(b) Find the product of 45 and 12

Ans : (b)

10 The sum of two numbers is 7293. The greater number is 5485. What is the smaller
number?

Ans:

Please do not write in the margin




Section ¢

For questions 11 to 13, show your working clearly and write your answers in the spaces
provided. The number of marks avallable is shown in brackets [ ] at the end of each question or
part-question. (9 marks)

11 30 012 people visited an exhibition. 22 800 of them were adults and the
rest were children.

(@)  How many children visited the exhibition?

Ans : (a) [1]

(b) 10 740 women visited the exhibition. How many children and women
visited the exhibition?

Please do nofwwrite in the margin.

Ans : (b) 12]
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3
12 Shop A had 126 boxes of oranges. There were 36 oranges in each box. The [

shop owner packed the oranges into bags of 8. How many bags of 8 oranges
were there?

Ans [3]
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9

13 A watch costs four times as much as a bag. Mr Tan paid $728 for a watch
and three bags. How much did the watch cost?

Ans:

[3]

End of Paper
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72¢ =
104,

$416
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